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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 4th Semester Examination, 2020

ECOACORO09T-EconoMmiIcs (CC9)

INTERMEDIATE MACROECONOMICS-II

Time Allotted: 2 Hours Full Marks: 50

The figures in the margin indicate full marks.
Candidates should answer in their own words and adhere to the word limit as practicable.
All symbols are of usual significance.

I. Answer any five questions from the following: 2x5=10

fasfeiie @-ieat #fipfs elvas Ted wiss

(a) What is adaptive expectation?
S @opi 5 9

(b) What is meant by Growth Accounting?
w2 Ffard aleiet w700 [ @RI 9

(c) What is inventory investment?
epe RIS FICE A0 9

(d) What do you mean by speculative demand for money?
FivFiaie Sde bifRnl e & @ical ¢

(e) What is the basic idea of the Rational Expectation Theory?
Ffeleies oy wrgd o1 aiel it S

(f) What do you mean by consumption puzzle?
celaeTiere 44l TeTCe 6 @R 9

(g) What is Solow residual?
TN SR FoT0e < @RI 2

(h) What is steady state?
HRbeTe SRR SRS FICE AT 2

2. Answer any four questions from the following: 5x4 =20
T @-ieal 5o @eie Ted mies
(a) What do you mean by Golden Rule Level of capital accumulation in the Solow 5

Growth Model?
CAICTI-3 Tl NCOCET o] 2J& e Fefie faesit qe7ce &5 @ican o

(b) What was the doctrine of Mercantilism? How does it fundamentally differ from 2+3
Physiocracy?
TR Foferer ol & fee ¢ e fErawifs srea et @3 a1 N @@= 9
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(c) Distinguish between fixed and flexible accelerator.
%1 @ sifee el wa 7 S A &

(d) Do you think that transaction demand for money is interest sensitive? Explain.
ofSl 5 A e @ e e BifRwl orE R =i el 2 9 i e

(e) How do the new Keynesian macro-economists explain that the wages and prices
are not flexible in the short-run?
T @A TEere wRfeRval Feir T FEET @ THEEE TR ¢ wed B
AT 2

(f) How is the consumption puzzle solved by the Relative Income Hypothesis?
Explain.

ol oY ©rgd MR (Siaiae g fFei s 51 27 ¢

3. Answer any two questions from the following:
fasfeie - 7 evs Teq wies

(a) Explain why individual speculative demand for money is a ‘step function’ while
the aggregate demand for money schedule is downward sloping.

odfa feste FoasiTe vifzw @l Lo Sicorss fne wedq AW vifent @2 =S
R FCANN

(b) Discuss the Solow model of growth. Examine the effects of change in (i) the
savings rate and (ii) the rate of growth of population on the growth rate of the
economy. What are the features of endogenous growth models?

-3 ST e Sceaba Scasat S Sifde Tfag $oF (1) HHEEd AEE @R
(i) TPRA-T g AEF RS dOR FEv F@l1 AT Mg @SS«
ored (aErefe i o

(c) What are the different forms of Investment? How an income tax on corporate
profit affects investment decision? What is Tobin’s “¢”? How it is influenced by
stock market fluctuations?

Rfvcer [fen agfosl & & ¢ afdftrr kzr TR B 39 e [fvaies
Praee eeiike 36 2 Bk @3 ¢ I 0 9 R ASIER S 7Rot @b FoIt
2ol 23 9

(d) Explain how the Fisherian theory of Intertemporal Choice explains the effect of a
rise in real rate of interest on consumption of different periods. What may happen
to consumer’s optimum choice for a borrowing constraint which is binding in
nature?

I FC | T e 7S TREAY AUTF O (SIGIF vl 53 [FoiE erelfte o7 ¢

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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